REDENTORE 4 MONSELICE A 6

RISULTATO SET TOTALE
SQUADRA A SQUADRA X 1 2 3 4 5 SET PUNTI |PARTITE
XA XA XA XA XA X A X|A|X
A MERLIN X I BELLOTTO 512 (1111214 | 9 | 11 113134410 | 1
B | GAMBARIN Y |PERARO 9 /11| 5 |11 2 3/0(33/16/ 1|0
DP|MERLIN-NALIN DP|BELLOTTO-NEGRELLO M5 11118 (|11 8 | 7 |11 2 | 3 |143/49| 0 1
C |BERTON Z |SANTATO 5 /11| 7 (11|11, 7 |[14|12] 9 (11| 2 | 3 |46 52| 0 | 1
B |GAMBARIN X BELLOTTO 11,4 (11| 5|11 5 3/0(33/14|1 |0
A MERLIN Z |SANTATO 11,8 |13 (11|11 6 310|325/ 1|0
C |BERTON Y |PERARO 11/ 5,4 (11,8 11| 8 | 11 1]13(31(38|0 |1
B |GAMBARIN Z |SANTATO 12/10/10(12 11| 8 11| 5 3111/44/35/ 1|0
C BBERTON X |BELLOTTO 11,6 (12 (14| 8 |11 | 6 | 11 113[37/42| 0 | 1
A MERLIN Y |PERARO 13/15/11| 7 (11|, 8 | 8 |11 8 |11 2 | 3 |[51|52| 0 | 1
TOTALI| 21| 19 |387|364| 4 | 6




